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ALL QUESTIONS CARRY EQUAL MARKS.ANSWER ANY FOUR (4) QUESTIONS. 
सभी Ůʲो ंके अंक समान हœ। िकɎी ंभी चार Ůʲो ंके उȅर दीिजये। 

 

Ques1. (a) Differentiate between Exogenous and Endogenous money supply curves. What 
will be the impact of following events on each of these curves?   

i. Rise in excess reserves holdings of banks (ER) 
ii. Increase in use of digital mode of payments 

iii. Central bank reduces the required reserve ratio    (12) 

(b) Discuss Free-rider problem in aggravating adverse selection and moral hazard problems 
in financial markets.         (6.75) 

 

1. (अ) बिहजाŊत (Exogenous) और अȶजाŊत (Endogenous) मुūा आपूितŊ वŢ मŐ अंतर बताइये । इनमŐ 
से Ůȑेक वŢ पर िनɻिलİखत घटनाओ ंका Ɛा Ůभाव पड़ेगा? 

(i) बœको ंके अितįरƅ आरिƗत भंडार मŐ वृİȠ (ER) 

(ii) भुगतान के िडिजटल मोड के उपयोग मŐ वृİȠ 

(iii) कŐ ūीय बœक आवʴक आरिƗत अनुपात को कम करता है                                   (12) 

(ब) िवȅीय बाजारो ंमŐ Ůितकूल चयन और नैितक खतरे की सम˟ाओ ंमŐ िन:शुʋ लाभाथŎ सम˟ा की 
चचाŊ कीिजये ।                                                                                                  (6.75) 

 

Ques2. (a) “A key financial innovation in the 1980’s that dramatically influences the role of 
financial intermediaries is the phenomenon of Asset Securitization”. Briefly explain this 
statement.                                                                                        (8) 
 
(b) Critically examine how the MCLR system is an improvement over Base rate system.  

                                                                                                         (10.75) 

 



2. (अ) "1980 मŐ एक महȕपूणŊ िवȅीय नवाचार जो िवȅीय मȯ̾थो ंकी भूिमका को नाटकीय ŝप से 

Ůभािवत करता है, पįरसंपिȅ Ůितभूितकरण की घटना है"। संƗेप मŐ इस कथन की ʩाƥा कीिजए। (8) 

(ब)  MCLR Ůणाली बेस रेट Ůणाली मŐ सुधार कैसे है आलोचनाȏक ʩाƥा कीिजये ।           (10.75) 

 

Ques3. (a) A Coupon Bond maturing in one year has a face value of Rs.1000 and coupon rate 
of 8%. If the market interest rate is 6% at the time of purchase, calculate: 

i. Price of the coupon bond 
ii. Current yield 

iii. Yield to maturity of this bond 

What effect would a rise in the market rate of interest to 8% have on its price and yield? (12) 

(b) What properties should a variable have to serve as an intermediate target of monetary 
policy?             (6.75) 

 

3. (क) एक वषŊ मŐ पįरपƓ होने वाले एक कूपन बॉȵ की कीमत 1000 Ŝ और दर 8% है। यिद खरीद 

के समय बाजार की ɯाज दर 6% है, तो गणना करŐ : 

(i) कूपन बांड की कीमत 

(ii) वतŊमान उपज 

(iii) इस बंधन की पįरपƓता की ओर 

ɯाज की बाजार दर मŐ 8% की वृİȠ से इसकी कीमत और उपज पर Ɛा Ůभाव पड़ेगा?     (12) 

(ख) एक चर को मौिūक नीित के मȯवतŎ लƙ के ŝप मŐ Ɛा करना चािहए?                 (6.75) 

          

Ques4. (a) Suppose investors prefer one year bonds to two year bonds and will purchase a 
two year bond only if they expect to receive an additional 4% over the return from holding 
one year bond. Currently one year bonds yield 5% but investors expect yield to fall to 4% 
next year. 

i. Which of the three models of term structure of interest rates is relevant in this case? 
Give reason. 

ii. What is the yield on 2-year bond? 
iii. Is the yield curve upward sloping, flat or downward sloping? Give reason.  (6.25) 

 

(b) Suppose a call option on a stock has an exercise price of Rs. 700 and a cost of Rs. 20, and 
suppose you buy the call option. Identify the profit to your investment, at the call’s 
expiration, for each of these values of the underlying stock: Rs. 250, Rs. 700, Rs. 1000, Rs. 
690, Rs. 710.      
                                                                                                              (12.5)                       



4.(अ) मान लीिजए िक िनवेशक एक से दो साल के बॉȵ को पसंद करते हœ और दो साल के बॉȵ की 
खरीद तभी करŐ गे, जब वे एक साल के बॉȵ रखने से įरटनŊ पर अितįरƅ 4% Ůाɑ करने की उʃीद 

करŐ गे। वतŊमान मŐ एक वषŊ के बॉȵ मŐ 5% की Ůाİɑ होती है लेिकन िनवेशको ंको अगले वषŊ 4% तक 

की िगरावट की उʃीद है 

(i) ɯाज दरो ंकी अविध संरचना के तीन मॉडल मŐ से कौन सा इस मामले मŐ Ůासंिगक है? कारण 

बताईये। 

(ii) 2-वषŎय बॉȵ पर उपज Ɛा है? 

(iii) उपज वŢ (Yield Curve) ऊपर की ओर झुका Šआ, सपाट या नीचे की ओर झुका Šआ है? 

कारण बताईये।                                                                                                     (6.25) 

(बी) मान लीिजए िक िकसी शेयर पर कॉल का िवकʙ Ŝपये का Ůयोग मूʞ 700 Ŝ और लागत 20 Ŝ 

है।  और मान लीिजए िक आप कॉल िवकʙ खरीदते हœ। अंतिनŊिहत ːॉक के इन मूʞो ं 250 Ŝ, 700 

Ŝ, 1000 Ŝ, 690 Ŝ, 710 Ŝ मŐ से Ůȑेक के िलए, कॉल की समाİɑ पर, अपने िनवेश के िलए लाभ की 
पहचान कीिजये ।                                                                                         (12.5) 

 

Ques 5 (a) Examine various issues involved in the formulation of monetary policy and 
inflation targeting in the Indian context.       (10.75) 

(b)  Briefly describe the four areas in which BASEL III is an enhancement over BASEL II. .                                  
(8) 

 

5 (अ) भारतीय संदभŊ मŐ मौिūक नीित और मुūा˛ीित लƙीकरण के िनमाŊण मŐ शािमल िविभɄ मुȞो ं
का परीƗण कीिजये ।                                                                                          (10.75) 

 (ब) संिƗɑ मŐ चार Ɨेũो ंकी ʩाƥा कीिजये िजसमŐ बेसेल III मŐ बेसल II से अिधक की वृİȠ है। (8) 

 

Ques 6. Write short notes on any two of the following:    (18.75) 

(a) Policy Rate Corridor  
(b) Adjusted H 
(c) Policy responses to the NPA crisis in the Indian Banking Sector since 2008 

 
 

Ůʲ 6. िनɻिलİखत मŐ से िकसी दो पर संिƗɑ नोट िलखŐ:                                                             (18.75) 

(ए) नीितगत मूʞ गिलयारा (Policy Rate Corridor)  

(बी) समायोिजत H  

(c) 2008 से भारतीय बœिकंग Ɨेũ मŐ NPA संकट के िलए नीितगत ŮितिŢयाएँ 


